y'(t)+ 28wy (t)+’y(t)=0, y(0)=vY,, y'(0)=V,

Y (1) =V, + 280 y(t)- y0]+a)zj‘; y(t)dt, =0

'(t)+ 280y (t)+ 02 [ y(L)dt = v, + 26wy,
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y(t)- yo+2§wj ,)dt, + @ H ) dt,dt, = (v, + 28wy, )t

Using LL"J.:"‘l---J.:SJ.:f(xi)d><1dx2dx3---dxn= ! Lx(x—g)"_lf(g)dg

(n-1)!

+2§coj ;) dt, + o _[ (t—t5) y(t,)dty = (v, + 2Ly, )t + Y,
y(t)=ﬁ—[2§w+w2 (t—s)] y(s)ds+ (v, + 2Ly, )t+ Y,

L K(ts)=-[ 2w+ 0’ (t-5)], g(t)=(v, + 22wy, )t+Y,
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